
Mutation in Resistance 2 
Background (NR2)

Fitness WNR2 = 1.027 
Time TNR2 = 3

Relative Effect = △s = WNR2 - WR2 = 0.027 !
Relative Time = △t = TNR2 - Maximum Time = - 276

Experimental

Inferred

Time

Time

A

B

LN
Re

si
st

an
ce

 2

Re
si

st
an

ce
 1

(
)

LN
Re

si
st

an
ce

 2

Re
si

st
an

ce
 1

(
)

WR1=1

WR2=0.96

Mutation in Resistance 2 
Background (NR2)

Fitness WNR2 = 1.057 
Time TNR2 = 3

Mutation in Resistance 1 
Background (NR1)

Fitness WNR1 = 1.068 
Time TNR1= 29

Relative Effect = △s = (WNR2 - WR2) - (WNR1 - 1) = 0.029!
Relative Time = △t = TNR2 - TNR1 = -26

Experimental

Inferred

Ê
Ê

Ê

Ê

Ê
Ê

Ê
Ê
Ê

Ê

Ê
Ê
Ê Ê

Ê
Ê
Ê Ê

Ê

Ê
Ê

Ê

Ê

Ê
Ê

Ê
Ê
Ê

Ê

Ê
Ê
Ê Ê

Ê
Ê
Ê Ê

Ê

WR1=1

WR2=0.96

Figure S1. Example of the fitting process for a simulated experimental population.


